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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – 4(NEW) • EXAMINATION – SUMMER 2018 

Subject Code: 3340202      Date: 30-Apr-2018 

Subject Name: Vehicle Kinematics & Dynamics 

Time:  10:30 AM TO 01:00 PM    Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 
 

Q.1  Answer any seven out of ten. દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. 14 

 1. Define the term Kinematics  

 ૧. ક ઇનેમેટીક્સ પદ સમજાવો  

 2. Define the term Dynamics  

 ૨. ડ યનેમીક્સ પદ સમજાવો   

 3. Draw neat sketch of slider crank mechanism.  

 ૩. સ્લ ઇડર ક્રાંક મીકેનીઝ્મ ની આક્રુતી દોરો  

 4. Write difference between rigid link and flexible link  

 ૪. રીજીડ લીંક અને ફ્લેક્શીબલ લલિંક વચ્ચેનો તફ વત લખો   

 5. What is inversion of mechanism?  

 ૫. ઇન્વર્ઝ્ન મીકેનીઝમ શ ુછે?    

 6. Define the terms – free vibration and forced vibration  

 ૬. વ્ય ખ્ય  આપો – ફ્રી વ ઇબ્રશેન અને ફોસ્ડ વ ઇબ્રેશન  

 7. Draw neat sketch of any two types of follower  

 ૭. કોઇ પણ બે ફોલોઅરની આક્રુતી દોરો  

 8. Define the term Draw bar pull  

 ૮. ડ્રો બ ર પલુ પદ સમજાવો.  

 9. Define the term – braking efficiency.  

 ૯. બ્રેકીંગ ક ય્દક્ષત  પદ સમજાવો.  

 10. Define the term rolling moment and pitching moment  

 ૧૦. રોલીંગ મોમેન્ટ અને પીચીંગ મોમેન્ટ સમજાવો   

    
Q.2 (a) Write down need of balancing.  03 

પ્રશ્ન. ર (અ) બેલેન્સીંગની જરુરીય ત લખો  ૦૩ 

  OR  

 (a) Define balancing of rotating mass.  03 

 (અ) રોટેટીંગ મ સ ન ુબેલેન્સીંગ સમજાવો  ૦૩ 

 (b) Write down difference between static balancing and dynamics balancing 04 

 (બ) સ્ટેટીક બેલેન્સીંગ અને ડ યનેમમક્સ બેલેન્સીંગ વચ્ચેનો તફ વત લખો ૦૪ 

  OR  

 (b) Derive an equation of variation of tractive force 04 
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 (બ) ટે્રક્ટીવ ફોસ્ ન  ફેરફ રન ુસતુ્ર ત રવો ૦૪  
 (c) How several mass rotating in the same plane are balanced?  07 

  (ક) એક જ સપ ટી મ  ફરત  અનેક મ સ ને કેવી રીતે સમતોલ કરવ મ  આવે છે? ૦૭ 

  OR  

 (c) Explain swaying couple and hammer blow 07 

 (ક) સ્વેયીંગ કપલ અને હમેર બ્લો સમજાવો ૦૭ 

    
Q.3 (a) Draw road performance curve of Road speed Vs power.  03 

  (અ) રોડ સ્પીડ Vs પ વરનો રોડ પરફોમંન્સ કવ્ દોરો  ૦૩ 

  OR  

 (a) Explain the air resistance.  03 

 (અ) હવ નો  અવરોધ સમજાવો. ૦૩ 

 (b) Derive an equation for distribution of weight for four wheeler vehicle. 04 

 (બ)  ચ ર વ્હીલર વ હનમ  વજન વહચેણીન ુસતુ્ર ત રવો. ૦૪ 

  OR  

 (b) Define the term tractive force and traction  04 

 (બ) ટે્રક્ટીવ ફોસ્ અને ટે્રક્શન ન  પદની વ્ય ખ્ય  આપો  ૦૪  
 (c) Derive an equation for stability of a vehicle on a slope.    07 

 (ક) ઢ ળ પર વ હનની સ્ટેબીલીટી મ ટેન ુસતુ્ર ત રવો.  ૦૭  
  OR  

 (c) The car has the following data 

Weight- 44 KN                                Frontal area: 5.4 m2 

Wheel diameter: 0.8125 m              co-efficient rolling resistance:0.018 

Co-efficient of air resistance: 0.0276 

Maximum speed in top gear: 88km/hr 

Top gear ratio:6.2:1                          

Transmission efficiency: 90% 

Find: (1) the engine power required at top speed in top gear 

(2) Engine speed (rpm) at above car speed 

07 

 (ક) એક ક ર મ ટેની મ હીતી નીચે મજુબ આપેલ છે  

વજન : 44 KN                     આગળન  ભ ગ નો એરીય : 5.4 m2  

વ્હીલ ડ ય મીટર: 0.8125 m        રોલીંગ અવરોધનો સહગણુક: 0.018  

હવ ન  અવરોધનો સહગણુક: 0.0276  
ટોપ ગીયર મ  મહત્તમ ગતી: 88km/hr 

ટોપ ગીયર રેશીયો: 6.2:1  

ટ્ર ન્સમીશન ક્ષમત : 90%  

શોધો (૧) ટોપ ગીયરમ  મહત્તમ ગતી મ ટે જરુરી પ વર  

(૨) ક ર ની મહતમ ગતી મ ટે એન્જીનની સ્પીડ( આર પી એમ )  

૦૭  

    
Q.4 (a) Draw neat sketch of MacPherson strut type suspension 03 

પ્રશ્ન. ૪ (અ) મેકફશ્ન સ્ુટ ટ ઇપ સસ્પેંશનની આક્રુતી દોરો ૦૩ 

  OR 

 

 

 

 (a) Define the terms – Frequency, amplitude and cycle 03 
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 (અ) પદો સમજાવો – આવ્રતુી, એમ્પ્લીટયડુ અને સ યકલ  ૦૩ 

 (b) Explain the factors affecting the human comfort in vehicle. 04 

 (બ) વ હનમ  મ નમવય આર મને અસર કરત  પરીબળો સમજાવો ૦૪ 

  OR  

 (b) Write down the turning circle radius equation for all wheel of a vehicle 04 

 (બ) વ હનન  બધ  વ્હીલ મ ટેન  ટનીગ સક્લ રેડીયસ ન  સતુ્રો લખો  ૦૪ 

 (c) A truck has pivot pins at 1.37m apart, the length of each track arm is 0.17m 

and the track rod is behind front axle is 1.17m. Determine the wheel base for 

true rolling of all wheels when inner stub axle is 600 to the center line of the 

car.  

07 

 (ક) એક ટ્રકન  પીવોટ લબિંદુઓ 1.37m ન  અંતરે છે દરેક ટે્રક આમ્ની લાંબ ઇ 0.17m 
છે તથ  ફ્રાંટ એક્ષલની પ છળનો ટે્રક રોડ 1.17m લ ાંબો છે દરેક વ્હીલની ુ 
રોલીંગની સ્થીતીમ  જ્ય રે અંદરનો સ્ટબ એક્ષલ ક રની મધ્ય રેખ  સ થે 600 

ન  ખણેુ હોય તો વ્હીલ બેઝ શોધો 

૦૭ 

    
Q.5 (a) Write down the function and requirement of suspension system.  04 

પ્રશ્ન. ૫ (અ) સસ્પેંશન સીસ્ટમન ુક ય્ અને જરુરીય ત લખો   ૦૪ 

 (b) Write down the difference between tube tyre and tubeless tyre.  04 

 (બ) ટયબુ ટ યર અને ટયબુલેસ ટ યર વચ્ચેનો તફ વત લખો  ૦૪ 

 (c) Write down the difference between machine and mechanism.  03 

 (ક) મશીન અને મીકેનીઝમ વચ્ચેનો તફ વત લખો  ૦૩ 

 (d) Define degree of freedom 03 

 (ડ) ડીગ્રી ઓફ ફ્રીડમ સમજાવો. ૦૩ 

 

************ 


